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& pl Sk MRS
1 110 120
2 160 170
3 140 - 140
4 180 ; 170
5 200 190
6 120 120
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8 90 100
9 130 140
10 150 140
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HRBRHEAAGFR(EMEF)  REBAHFREL T

GROUP N Mean StdDev Std Error Minimum Maximum

A 20 4130 14.88 333 27.0 77.0
C 60 46.88 13.30 1.72. 21.0 74.0
Variances T DF Prob>|T|
Unequal -1.4911 29.8 0.1465

~ Equal -1.5784 78.0 0.1185

For HO: Variances are equal, F' = 1.25, DF = (19,59), Prob>F' = 0.4999
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FAEIB AT & BB (Ca) » 425 BRI A o T

‘ Ca No Ca
Non-Smoker 18 2
Smoker 46 14

¥ ] 468 A (smoker) 4% 2] # 4% 2. vt 5] (proportion) & % > ? (4 »
SR & F 308 2 ) (proportion) % % 2 ? (4 &)

3 %o R 38 & — 18 5% 5] ¥ B8 57 % (case control study) » #4148 2 B H bk (odds ratio) 2
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